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Read the following instructions carefully before you begin to answer the questions.
This Booklet contains questions in English as well as in Hindi.
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This Booklet contains 200 questions in all comprising the following
four parts :

Part(a) : General Intelligence (50 Questions)
Part(b) : General Awareness (50 Questions)
Part<(¢) : Quantitative Aptitude (50 Questions)
Part(d) : English Language (50 Questions)

All questions are compulsory and carry equal marks.

Before you start to answer the questions you must check up this
Booklet and ensure that it contains all the pages (1-40) and see that
no page is missing or repeated. If you find any defect in this
Booklet, you must get it replaced immediately.

The paper carries negative marking. 0.25 marks will be deducted for
each wrong answer:

You will be supplied the Answer-Sheet separately by the Invigilator.
You must complete the details of Name, Date of Birth, Roll Number,
Ticket Number and Test Form Number on Side-1 of the Answer-
Sheet carefully. You must also put your signature and left hand thumb
impression on the Answer-Sheet at the prescribed place before you
actually start answering the questions. These instructions must be
fully complied with, failing which, your Answer-Sheet will not be
evaluated and you will be awarded ‘ZERO* mark. (For V.H.
candidates these details will be filled in by the scribe. However
all V.H. candidates must put their left-hand thumb impression
at the space provided in the Answer-Sheet. In addition, those
V.H. candidates who can sign should also put their signatures
in addition to thumb impression.)

Answers must be shown by completely blackening the corresponding
rectangles on Side-1I of the Answer-Sheet against the relevant question
number by Black Ball Point Pen only.

A machine will read the coded information in the OMR Answer-Sheet.
In case the information is incomplete / different from the information
givenin the application form, the candidature of such candidate will be
treated as cancelled.

The Answer-Sheet must be handed over to the Invigilator before you
leave the Examination-Hall.

Failure to comply with any of the above instructions will render
a candidate liable to such action / penalty as may be deemed fit.
The manner in which the different questions are to be answered has been
explained at the back of this Booklet (Page No. 40), which you should
read carefully before actually answering the questions.

Answer the questions as quickly and as carefully as you can. Some
questions may be difficult and others easy. Do not spend too much time
on any question.

In lieu of Questions No. 45 to 50 and 142 to 150 relating to figural and
graph portions, alternate questions have been provided to be attempted
by V.H. Candidates only.
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“Mobile phones and wireless communication devices are completely
b d in the e ination halls/rooms. Candidates are advised
notto keep mobile phones/any other wireless communication devices
with them even switching it off, in their own interest. Failing to
comply with this provision will be considered as using unfair

in the ination and action will be taken against them
including cancellation of their candidature.”

No rough work is to be done on the Answer-Sheet. Space for rough

work has been provided below the questions in Part (a) and
Part (c) of this Booklet.
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105.
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110.

111.

112.

113.

114.

115.

T ffiE % SR T &19% 57 sq om &
3R &= 10 cm ¥, @ IFH AGaT cm? |
3

(A) 570
(C) 190

(B) 390
(D) 590

s forett o % Tl af i 843 )
ITH TR TR &

(A) 192 cm? (B) 512cm?
(C) 768 cm? (D) 384 cm?

2 m? &% Ft o W ST T S B
TEA §

(&) Fm? ® Fm?

(©) nm? (D) 27nm?

Ik fF@ weg e & oRmm @
TEH WA 3% §BeT B3 A 8, o
Byt =t 7 oo Sl SaE ¥ ‘
(A) 27 (B) 37e

(€) 439 (D) 63—

fodl ol & fowol W & wweag e
TR T | A % & % 9 B &
SR FT 3 &

(A) \3:2 B) V2:43
©) 2:13 (D) 1:42
forelt o & T 25% BT WM 25% ¢ |
AR F10% & A A &

(A) 50% B) 40%

(C©) 30% (D) 335%

3

116.

117.

118.

119.

B T 1,200 AP AT Al & g W
T B e HE 6 16% T2 I3 F 915
39 12% 4 & ST 2

(A) 1,344 (B) 1,433
(C) 1,600 (D) 1,500

Ay x=4: 15?&@5%)%111:{%

W) 13 ®)

4
© 11

[am—y

19

W -

® 7

ok
O

FO MR AGIH I KA T w3 &
o fean | oy S 9 5 aruien 9 v
9 TRfTE = %W 12 R ¥ @ R e
(A) 24
) 16

(B) 20
(D) 18

Tt amn 1w T s 25 kmv/hour #Y
X ¥ 79 fear mn, u 9 30 km/hour
H T ﬁTﬁﬁSOkm/hour&ﬁﬁTﬁ |
ol I S el §

(A) 35 km/hour
1

(B) 335 km/hour

(C) 30 km/hour

1
D) 375 km/hour
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120.

121.
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123.
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3t wEAett 1 39a 62 ¥ | 9y Bt g
¥ 2 g TR s o demsd @ s
1: 2@ e ¢ | HEEme o S

(A) 62 (B) 40

©) 84 (D) 24

25 SRIEN H T I I /20 F faw
Tl & A § | T A7 1 wierww &
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2A-3B
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7 6
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T HET S Te 10% s T, fR 20%
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FEE?

(A) 30% (B)
(C) 32%
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(D) 36%

125.

126.

127.
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129.

130.
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Tiered I W 11 free 3T @ wge & 1 Ak
& 50 km/hour W Tt Al Shaet 5 fire X
¥ TgT & | A 0 A ¥ fow e @
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© 19 D) 21

Wﬁswaﬁmm%%a?wag

W%Iqﬁmmmﬂcm?ﬁ}r
3 o g T fehert 8t s
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A 23I=3 @It FAFE
(A) 27 (B) 81
(C) 72 D) 9

1 1
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(A) 1 (B) 2
<© 3 (D) 4
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LICh

(A) 0 B) 1
€ -1 D) 2

A2 +b2+c2+3=2@+b+c)d
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A) 2
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(B) 3
D) 5
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131.

132.

133.

134.

135.

136.

2P
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qm g

A) 4 B) 5
© 10 (D) 12
IO ol 1 o g Far &
(A) B & AT

(B) HHhIvig ¥y ¢

(C) SEFFIT

(D) Pyt & offere

T Bt & &7 (x + 5)°, (2x — 3)° 3K
Gx+4)°E Ix®WARTE

(A) 30 (B) 31

<€ 29 (D) 28
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£PSX = ZRQX, @t &4 frermr
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AD U Bt ABC &i Wit 8, O 3geht
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cmﬁ%’

1 1
4,P¢O,FﬁP+P &

A) 4 B) 5
© 6 D) 8
AABC % /B 1 £C % 9l fgwiors (st

AB @1 AC ® %A E 991 F % S/l
T ®) P fag w e € 1 ok ZBAC =
100°, @ ZBPC & H1Y &

(A) 50° (B) 80°

© 40° (D) 100°

137.

138.

139.

140.

141.

AT tan(20 + 45°) = cot 30, i
(20 + 45°) 3R 30 = HIUT &, A 0 H AR
T

(A) 5°
© 12°

B) 9
(D) 15°

I 150 WX & 4t F W 6T I
T 1 A ud 1 grm S Y| 9 60°
N 01 T A oy} v S @
T X o urm At far i d) &

(A) 50T (B) 753k
(C) 25\3ex (D) 807

aﬁeiﬁﬂﬁm%aﬁ'{'cose='}—;,ﬁ}
cot(90° — 0) H T &

24/8 8
(A) s ®B) 15
2 82
©) % D) 5

7
T sec?0 + tan20 = I at

sec?0 — tan*g =

7 1
A 13 ®) 3
© 3 ® 1

2ﬂ%«'cosx+cosy=2,Fl>tsinx+sinyab'r
=Y

A) 0 B) 1

© 2 D) -1
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146, woe o fp o g A W IR 9
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148, IR ot % few dnfor sftaa Wt oy
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Directions :

151.

152.

153.

154.

155.

PART - (d)
ENGLISH LANGUAGE

In Question Nos. 151 to 155,
some part of the sentences have errors
and some have none. Find out which
part of a sentence has an error and

blacken  the rectangle (]
corresponding to the appropriate letter
(A, B, C). If there is no error, blacken

the rectangle [WMl] corresponding to
(D) in the Answer Sheet.

Neither of them / are / good. /
(A) ®B (©

No error.

(D)

Due to me being a new comer /

(A)

I was unable / to get a good house. /

(B) ©)

No error.

(D)

The circulation of The Statesman /

(A)

is greater than / that of any newspaper. /

(B) ©

No error.

(D)

In the garden /
(A)

were the more beautiful flowers /

(B)

and silver bells. / No error.

© D)

The poet / describes about /
(A) (B)

the spring season. / No error.

© D)

Directions : In Question Nos. 156 to 160,

156.

157.

158.

159.

160.

sentences are given with blanks to be
filled in with an appropriate word(s).
Four alternatives are suggested for
each question. Choose the correct
alternative out of the four and indicate
it by blackening the appropriate

rectangle M) in the Answer Sheet.

The news was
(A) very
(B) too

(C) so

(D) as

good to be true.

How much longer this book ?
(A) you are needing

(B) will you be needing

(C) will you have needed

(D) have you needed

_____you hear the President’s speech ?
(A) Have

(B) Has

(C) Had

(D) Did

I to the movies with some
friends last night.

(A) have gone
(B) went

(C) am gone
(D) am going

She has only friends.
(A) fewer

(B) less

(C) more

(D) afew
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Directions : In Question Nos. 161 to 165,
out of the four alternatives, choose the
one which best expresses the meaning
of the given word and mark it in the
Answer Sheet.

161. magnificent
(A) magnanimous (B) modest
(C) generous (D) splendid

162. spirited
(A) heated (B) drunk
(C) enthusiastic (D) possessed

163. gloomy

(A) misty (B) obscure

(C) murky (D) shadowy
164. grumble

(A) toscold (B) to complain

(C) to sheer (D) to fight
165. crude

(A) unrefined (B) cruel

(C) rude (D) savage

Directions : In Question Nos. 166 to 170,
choose the word opposite in meaning
to the given word and mark it in the

Answer Sheet.

166. detest
(A) test (B) dislike
(C) like (D) interest

167. intentional
(A) accidental (B) undecided
(C) concentrated (D) broken

168. commence
(A) start (B) schedule
(C) conclude (D) dissolve

169. expand
(A) contract (B) contrast
(C) consist (D) controvert

170. prosperity
(A) propriety (B) property
(C) adversity (D) perspicacity

Directions : In Question Nos. 171 to 175,

171.

172.

173.

four alternatives are given for the
Idiom/Phrase. Choose the alternative
which best expresses the meaning of
the Idiom/Phrase and mark it in the
Answer Sheet.

to speak one’s mind.
(A) To be frank and honest

(B) To think aloud
(C) To talk about one’s ideas
(D) To express one’s thoughts

to make a mountain of a molehill

(A) to make advantage of a small
thing

(B) to give great importance to little
things

(C) to get into trouble

(D) to see a thing with prejudiced
mind

hand in glove

(A) in close relationship
(B) non-cooperative
(C) critical

(D) onbad terms

174. to add fuel to the fire

175.

(A) to make matters bright

(B) to cause additional anger

(C) to bring matters to a conclusion
(D) to start arevolt

Wear and tear

(A) abrand name
(B) damage

(C) lot of sorrow
(D) awarmning
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Directions : In Question Nos. 176 to 180, a

176.

177.

178.

179.

180.

part of the sentence is underlined.
Below are given alternatives to the
underlined part at (A), (B) and (C)
which may improve the sentence.
Choose the correct alternative. In case
no improvement is needed your answer
is (D).

A pair of shoes have been purchased
by me.

(A) has been

(B) has being

(C) would been

(D) no improvement

When [ shall go to Agra, I shall visit
the Taj Mahal.

(A) have gone
(B) shall travel

©) go
(D) no improvement

You must apologise with him for this.
(A) to

(B) of

(C) for

(D) no improvement

Since he worked hard he failed to
secure good grades.

(A) As

(B) When

(C) Though

(D) No improvement

The minister agreed will answer

questions on television.
(A) to answer

(B) for answering
(C) with answering
(D) no improvement

Directions

181.

182.

183.

184.

185.

: In Question Nos. 181 to 185,
out of the four alternatives, choose the
one which can be substituted for the
given sentence and indicate it by
blackening the appropriate rectangle

[ in the Answer Sheet.

A person who loves wealth and spends
as little money as possible.

(A) Curmudgeon
(B) Money-grabber
(C) Scrimp

(D) Miser

State of anxiety or dismay causing
mental confusion.

(A) Constriction
(B) Consternation
(C) Concentration
(D) Contraction

A person who is fluent in two
languages.

(A) Versatile

(B) Expert

(C) Bilingual

(D) Knowledgeable

One who eats human flesh.
(A) Maneater

(B) Cannibal
(C) Beast
(D) Savage

The quality of being politely firm and
demanding.

(A) assertive

(B) bossy
(C) aggressive
(D) lordy
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Directions :

186.

187.

188.

189.

190.

In Question Nos. 186 to 190,
groups of four words are given. In
each group, one word is correctly
spelt. Find the correctly spelt word and
mark your answer in the Answer
Sheet.

(A) independance
(B) independence
(C) independens

(D) indepandance

(A) hypocrisy (B) hypocresy
(C) hipocrisy (D) hipocrecy
(A) aeroplane (B) airoplane
(C) aeroplain (D) airoplain
(A) loanly (B) lonly

(C) lonelie (D) lonely

(A) cerimony (B) ceremoney
(C) ceremony (D) cerimoney

Directions : In the following passage 191 to

200, some of the words have been left
out. First read the passage over and try
to understand what it is about. Then
fill in the blanks with the help of the
alternatives given. Mark your answer
in the Answer Sheet.

“Quit India” came not from the lips but
the aching hearts of millions. In this

open rebellion, the Indian 191
reached its climax. The British were
not only 192 by it, but also were

obliged to quit unilaterally. The
importance of Quit India can be

193 from Lord Linlithgow’s
statement, “I am engaged here in
meeting by far the most 194

rebellion since that of 1857, the gravity
and extent of which we have so far

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

195 from the world for reasons of

military  security.”  Still  more
significant was Churchill’s gloomy
disclosure to the King Emperor that,

“the idea of 196

of power had

become an admitted 197 in the

minds of British party leaders,”
although his public statements were

diametrically opposite. The 198
created by Quit India made the British
199 that they could no longer keep

Indiain 200 .

(A) freedom (B) patriotism
(C) liberation (D) revolution
(A) threatened (B) inspired
(C) attacked (D) impressed
(A) diffused (B) gauged

(C) established (D) determined
(A) trivial (B) magnificent
(C) serious (D) auspicious
(A) excluded (B) elicited
(C) prevented (D) concealed
(A) transfer (B) seizure

(C) grabbing (D) retainment
(A) tactics (B) fantasy
(C) inevitability (D) occurrence
(A) violence (B) taboos

(C) vengeance (D) anarchy
(A) imagine (B) pretend
(C) realise (D) anxious
(A) power (B) bondage
(C) exile (D) suspense
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MANNER IN WHICH ANSWERS ARE TO BE GIVEN
I 3 =it e

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each case,
you are required to select the one that correctly
answers the question or completes the statement
and blacken [ Il ] appropriate rectangle A, B,
C or D by Black Ball Point Pen against the

question concerned in the Answer-Sheet. [For

V.H. candidates corresponding rectangle will
be blackened by the scribe.)

The following example illustrates the manner in
which the questions are required to be answered,
Example :

Question No., *Q* —

Out of the four words given below, three are
alike in some way and one is different. Find the
ODD word :

(A) Girl
(B) Boy
{C) Woman
(D) Chair

Explanation : In the above example, the correct
answer 15 ‘Chair’ and this answer has been
suggested at ‘D", Accordingly, the answer is to

be indicated by blackening [ Il ] the rectangle

by Black Ball Point Pen in column ‘D’ against
Question No. *Q’ in the manner indicated below :

Question Ne. ‘Q’
[A] [B] [C] )

There is only one correct answer to each question,
You should blacken [ 8 | the rectangle of the
appropriate column, viz,, A, B, C or D. If you
blacken [ lll ] more than one rectangle against
any one question, the answer will be treated as
wrong. If you wish to cancel any answer, you
should completely erase that black mark in the
rectangle in the Answer-Sheet, and then blacken
the rectangle of revised response.

You are NOT required to mark your angwers in
this Booklet. All answers must be indieated in the
Answer-Sheet only
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